

## The Singular Integral Related to The Tricomi Type Operators

Jinyan Kang, Pingzheng Zhang\*

School of Mathematics Science, Jiangsu University, Zhenjiang, Jiangsu 212013, P. R. China

(Received November 15 2022 , accepted December 10 2022)

**Abstract:** In this paper the singular integral related to the Tricomi type operators are studied. We use Stein’s [17] “cancelation” criterion and weighted inequalities for singular integrals.

**Keywords:** singular integral; Tricomi type operator;  $A_p$  weights

### 1 Introduction and main results

Consider the Tricomi type operator

$$Tu = y^p u_{xx} + u_{yy} \tag{1}$$

in the upper plane  $\mathbb{R}_+^2 = \{z = (x, y) \in \mathbb{R}^2, y > 0\}$  with  $p > 0$  a real number. Results that in  $\mathbb{R}_+^2$  the operator has a solution  $E(z, z_0)$ , having a logarithmic singularity at point  $z_0 = (x_0, y_0) \in \mathbb{R}_+^2$  from [3, 19]. Here

$$E = E(z, z_0) = (s_0 s)^{-\alpha} A_\alpha(\zeta), \tag{2}$$

where  $\alpha = \frac{p}{2(p+2)}$ ,

$$A_\alpha(\zeta) = c_\alpha (-\zeta)^\alpha F(\alpha, \alpha, 2\alpha; \zeta), \tag{3}$$

$$\zeta = -\frac{4s_0 s}{r^2}, \quad r^2 = (x - x_0)^2 + (s - s_0)^2, \tag{4}$$

$s = \frac{2}{p+2} y^{\frac{p+2}{2}}$  and  $s_0 = \frac{2}{p+2} y_0^{\frac{p+2}{2}}$ , and the constant

$$c_\alpha = \frac{1}{4} \cdot \frac{\Gamma^2(\alpha)}{\Gamma(2\alpha)}.$$

$E$  can be regarded as solutions of (1) with Neumann boundary conditions on the boundary  $y = 0$  of  $\mathbb{R}_+^2$ . Actually, explicit calculation yields

$$\lim_{y \rightarrow 0} E = c_\alpha [(x - x_0)^2 + s_0^2]^{-2\alpha}, \quad \lim_{y \rightarrow 0} \partial_y E = \lim_{y \rightarrow 0} \partial_{yy} E = 0.$$

Let  $a > 0$  be real number and  $\chi(y) \in C^\infty(\mathbb{R})$  such that  $\chi(y) = 1$  if  $y \geq \frac{a}{2}$  and  $\chi(y) = 0$  if  $y < \frac{a}{4}$ . One can extends  $E(z, z_0)$  to  $\mathbb{R}^2 \times \mathbb{R}^2 \setminus \{z = z_0\}$  by setting

$$g(z, z_0) = E(z, z_0) \chi(y) \chi(y_0). \tag{5}$$

Notice that  $g(z, z_0)$  vanishes if one of  $y$  and  $y_0$  is less than  $\frac{a}{4}$ .

\*Corresponding author. E-mail address: pzzhang@ujs.edu.cn

Write

$$u(z) = \int_{\mathbb{R}^2} g(z, z_0) f(z_0) dz_0, \tag{6}$$

and, for  $i = 1, 2$

$$f_{ii}(z) = \int_{\mathbb{R}^2} X_i X_i g(z, z_0) f(z_0) dz_0 \tag{7}$$

with

$$X_1 = |y|^{\frac{p}{2}} \partial_x, \quad X_2 = \partial_y.$$

The main result of this paper is

**Theorem 1** *Let  $0 < p < 2$ . Suppose that  $f(z)$  has compact support above the line  $y > a$  and is integrable. Then, the singular integrals  $f_{ii}$  exist and their  $L^2$  norm are controlled by that of  $f$ , that is*

$$\|f_{ii}\| \leq C \|f\| \tag{8}$$

for  $i = 1, 2$ . The constant  $C$  is independent of  $f$ .

**Remark 2** *If  $p = 0$ ,  $T$  is the Laplace operator, Calderón and Zygmund [8] obtained the estimates to (8); If  $p > 1$  and  $\Omega$  is a smooth bounded domain of  $\mathbb{R}_+^n$ , Baouendi [1] obtained the similar estimates near the degenerate line; See also Rothschild and Stein [14] for sharp estimates by fundamental solution on nilpotent Lie group. Ruan, Witt and Yin [15, 16] studied the singular integral (8) for (1) when  $p > 0$  with bounded domain.*

## 2 Standard kernels

Recall  $X_1 = |y|^{\frac{p}{2}} \partial_x, X_2 = \partial_y$ . Let  $g(z, z_0), z, z_0 \in \mathbb{R}^2$  be defined in the introduction. Set

$$K_{ii}(w, w_0) = |y|^{-p} |s_0 s|^\alpha X_i X_i g(z, z_0) \tag{9}$$

for  $i = 1, 2, w = (x, s), w_0 = (x_0, s_0)$  with

$$s = \frac{2}{p+2} |y|^{\frac{p}{2}} y, \quad s_0 = \frac{2}{p+2} |y_0|^{\frac{p}{2}} y_0. \tag{10}$$

In (4),  $\zeta$  and  $r^2$  is restricted to  $s_0, s > 0$ , now we extend these depended variables to  $s_0, s \in \mathbb{R}$  by set

$$\zeta = -\frac{4|s_0 s|}{r^2}, \quad r^2 = (x - x_0)^2 + (s - s_0)^2. \tag{11}$$

Then we have

$$g(z, z_0) = |s_0 s|^{-\alpha} A_\alpha(\zeta) \chi_1(s) \chi_1(s_0) \tag{12}$$

with  $A_\alpha(\zeta)$  defined in (3) and  $\chi_1(s) = \chi(y)$ .

Now

$$K_{11}(w, w_0) = \chi_1(s) \chi_1(s_0) \partial_{xx} A_\alpha(\zeta). \tag{13}$$

By (1), one has

$$K_{22} = -K_{11} \tag{14}$$

if  $y, y_0 \geq \frac{a}{2}$ .

**Lemma 3** We have the asymptotic behaviors

$$\partial_{xx}A_\alpha(\zeta) = \frac{(x-x_0)^2 - (s-s_0)^2}{2r^4} + D_\alpha, \quad (15)$$

as  $\zeta \rightarrow -\infty$ . Here

$$D_\alpha = \frac{l_0}{2}(\log(-\zeta) - 2(x-x_0)^2r^{-2} + n_0 - 1)r^{-2}\zeta^{-1} + O(\log(-\zeta) \cdot r^{-2}\zeta^{-2}),$$

and

$$\partial_{xx}A_\alpha(\zeta) = \frac{(x-x_0)^2 - (s-s_0)^2}{2r^4} + o(1), \quad (16)$$

as  $\zeta \rightarrow 0$ .

**Proof.**

Set

$$F_k = F_{k,\alpha} = F(\alpha + k, \alpha + k, 2\alpha + k; \zeta)$$

for  $k = 0, 1, 2$ . Using the formula

$$\frac{d}{dz}F(a, b, c; z) = \frac{ab}{c}F(a+1, b+1, c+1; z),$$

we get

$$\partial_x F_0 = \frac{\alpha}{2}F_1\zeta_x, \quad \partial_{xx}F_0 = \frac{\alpha}{2}F_1\zeta_{xx} + \frac{\alpha(\alpha+1)^2}{2(2\alpha+1)}F_2 \cdot (\zeta_x)^2.$$

By definition of  $\zeta$  we have

$$\zeta_x = -2(x-x_0)r^{-2}\zeta, \quad \zeta_{xx} = -2[(s-s_0)^2 - 3(x-x_0)^2]r^{-4}\zeta.$$

Then

$$\partial_{xx}(-\zeta)^\alpha \cdot F_0 = 2\alpha [(2\alpha+1)(x-x_0)^2 - (s-s_0)^2]r^{-4} \cdot (-\zeta)^\alpha F_0, \quad (17)$$

$$2\partial_x(-\zeta)^\alpha \partial_x \cdot F_0 = -4\alpha^2(x-x_0)^2r^{-4} \cdot (-\zeta)^{\alpha+1}F_1, \quad (18)$$

and

$$\begin{aligned} (-\zeta)^\alpha \partial_{xx}F_0 &= \alpha[(s-s_0)^2 - 3(x-x_0)^2]r^{-4} \cdot (-\zeta)^{\alpha+1}F_1 \\ &+ \frac{2\alpha(\alpha+1)^2}{2\alpha+1}(x-x_0)^2r^{-4} \cdot (-\zeta)^{\alpha+2}F_2. \end{aligned} \quad (19)$$

By formula (36), one has

$$(-\zeta)^{\alpha+k}F_k = \log(-\zeta)U_k(\zeta) + V_k(\zeta) \quad (20)$$

with

$$U_k(\zeta) = u_k[1 + l_k\zeta^{-1} + O(\zeta^{-2})], \quad V_k(\zeta) = u_k[m_k + l_k n_k \zeta^{-1} + O(\zeta^{-2})],$$

as  $\zeta \rightarrow -\infty$ . Here are quantities depending  $\alpha$  and  $k$ :

$$u_k = \frac{\Gamma(2\alpha+k)}{\Gamma(\alpha+k)\Gamma(\alpha)}, \quad l_k = (1-\alpha)(\alpha+k),$$

$$m_k = h_0(\alpha+k, 2\alpha+k) = 2\Psi(1) - \Psi(\alpha+k) - \Psi(\alpha),$$

and

$$n_k = h_1(\alpha + k, 2\alpha + k) = 2\Psi(2) - \Psi(\alpha + k + 1) - \Psi(\alpha - 1).$$

By formula  $\Gamma(1 + z) = z\Gamma(z)$ , we have

$$u_0 = \frac{\Gamma(2\alpha)}{\Gamma^2(\alpha)}, \quad u_1 = 2u_0, \quad u_2 = \frac{2(2\alpha + 1)}{\alpha + 1}u_0. \tag{21}$$

Using formula  $\Psi(1 + z) = \Psi(z) + \frac{1}{z}$ , we have

$$m_0 = 2\Psi(1) - 2\Psi(\alpha), \quad m_1 = m_0 - \frac{1}{\alpha}, \quad m_2 = m_0 - \frac{2\alpha + 1}{\alpha(\alpha + 1)}.$$

Set  $v_k = u_k m_k$ . We have

$$v_0 = u_0 m_0, \quad v_1 = 2v_0 - \frac{2}{\alpha}u_0, \quad v_2 = \frac{2(2\alpha + 1)}{\alpha + 1}v_0 - \frac{2(2\alpha + 1)^2}{\alpha(\alpha + 1)^2}u_0. \tag{22}$$

Using formula  $\Psi(1 + z) = \Psi(z) + \frac{1}{z}$ , we have

$$n_0 = 2\Psi(2) - 2\Psi(\alpha) - l_0^{-1}, \quad n_1 = n_0 - \frac{1}{\alpha + 1}, \quad n_2 = n_0 - \frac{2\alpha + 3}{(\alpha + 1)(\alpha + 2)}.$$

Set  $w_k = u_k l_k n_k$ . Then  $w_0 = u_0 l_0 n_0$ ,  $w_1 = 2w_0 + 2(1 - \alpha)u_0(n_0 - 1)$ ,

$$w_2 = \frac{2(2\alpha + 1)}{\alpha + 1}w_0 + \frac{2(2\alpha + 1)(1 - \alpha)}{\alpha + 1}u_0[2n_0 - \frac{2\alpha + 3}{\alpha + 1}]. \tag{23}$$

Note  $4c_\alpha = \frac{1}{u_0}$  and  $A_\alpha(\zeta) = c_\alpha(-\zeta)^\alpha F_0$ . By (20)

$$4\partial_{xx}A_\alpha(\zeta) = \log(-\zeta) \cdot P + Q \tag{24}$$

with

$$P = (x - x_0)^2 r^{-4}(c_1 + c_2 \zeta^{-1}) + (s - s_0)^2 r^{-4}(c_3 + c_4 \zeta^{-1}) + O(r^{-2} \zeta^{-2})$$

and

$$Q = (x - x_0)^2 r^{-4}(c_5 + c_6 \zeta^{-1}) + (s - s_0)^2 r^{-4}(c_7 + c_8 \zeta^{-1}) + O(r^{-2} \zeta^{-2}),$$

as  $\zeta \rightarrow -\infty$ . Using (21),

$$c_1 = \alpha(2\alpha + 1) - 8\alpha^2 - 6\alpha + 4\alpha(\alpha + 1) = 0$$

and

$$c_3 = -2\alpha + 2\alpha = 0.$$

Similarly, we get  $c_2 = c_4 = 2l_0$ . Then

$$P = 2l_0 r^{-2} \zeta^{-1} + O(r^{-2} \zeta^{-2}) \quad \text{as } \zeta \rightarrow \infty. \tag{25}$$

Using (22),

$$c_5 = (2\alpha(2\alpha + 1) - 8\alpha^2 - 6\alpha + 4\alpha(\alpha + 1))m_0 + 8\alpha + 6 - 4(2\alpha + 1) = 2$$

and

$$c_7 = (-2\alpha + 2\alpha)m_0 - 2 = -2.$$

Similarly, we get  $c_6 = 2l_0(n_0 - 3)$ ,  $c_8 = 2l_0(n_0 - 1)$ . Then

$$Q = 2 \cdot \frac{(x - x_0)^2 - (s - s_0)^2}{r^4} - 4l_0(x - x_0)^2 r^{-4} \zeta^{-1} + 2l_0(n_0 - 1)r^{-2} \zeta^{-1} + O(r^{-2} \zeta^{-2}) \tag{26}$$

as  $\zeta \rightarrow \infty$ .  $l_0$  takes the same value  $\alpha(1 - \alpha)$ . Combining (25) and (26) yield

$$\partial_{xx} A_\alpha(\zeta) = \frac{(x - x_0)^2 - (s - s_0)^2}{2r^4} + D_\alpha \tag{27}$$

as  $\zeta \rightarrow -\infty$ . So (15) is valid.

By (18), we get  $|\partial_{xx} A_\alpha|, |\partial_{xx} A_{1-\alpha}| \leq C \frac{1}{r^{2+\alpha}}$  as  $r \rightarrow \infty$ .

Note that  $(-\zeta)^{\alpha+k} F_k$  tends to 0 as  $\zeta \rightarrow 0$ , thus the estimate of (16) is verified. ■

**Definition 1** A function  $K(w, w_0)$ , defined for  $w \neq w_0$ ,  $w, w_0 \in \mathbb{R}^2$  is called a “Standard kernel” if it is assumed to satisfy the basic inequalities: For some  $\gamma$ ,  $0 < \gamma < 1$ , one has

$$|K(w, w_0)| \leq C|w - w_0|^{-2} \tag{28}$$

and

$$|K(w, w_0) - K(w, w_1)| + |K(w_0, w) - K(w_1, w)| \leq C \frac{|w_0 - w_1|^\gamma}{|w - w_0|^{2+\gamma}}, \tag{29}$$

if  $|w_0 - w_1| < |w - w_0|/2$ .

**Proposition 4**  $K_{11}, K_{22}$  are standard kernels.

**Proof.** By Lemma 3,  $K_{11}$  is a standard kernel. The proof of  $K_{22}$  follows from (14). ■

**Definition 2** A singular integral operator  $T$  associated to a standard kernel  $K(w, w_0)$  is a bounded linear operator from the space  $\mathcal{D} = C_c^\infty(\mathbb{R}^2)$  of test functions to its dual  $\mathcal{D}'$  (the space of distributions), such that if  $f \in \mathcal{D}$ , then, outside the support of  $f$ , the distribution  $Tf$  agrees with the function

$$(Tf)(w) = \int_{\mathbb{R}^2} K(w, w_0) f(w_0) dw_0. \tag{30}$$

Given a standard kernel  $K(w, w_0)$ , what “cancelation” conditions must be imposed on  $K$  so that there exists a bounded operator  $T : L^2(\mathbb{R}^2) \rightarrow L^2(\mathbb{R}^2)$  having kernel  $K$  in the sense of (30). Stein [17] introduces the quantities

$$I_{\varepsilon, N}(w) = \int_{\varepsilon < |w - w_0| < N} K(w, w_0) dw_0$$

and that for the adjoint kernel  $\bar{K}(w_0, w)$

$$I_{\varepsilon, N}^*(w_0) = \int_{\varepsilon < |w - w_0| < N} \bar{K}(w, w_0) dw.$$

**Theorem 5** Stein [17], P306, Suppose that  $K(w, w_0)$  is a standard kernel. Then there exists a bounded operator  $T : L^2 \rightarrow L^2$  so that (30) holds if and only if there is an  $A > 0$  such that

$$\int_{|w - w_1| < N} |I_{\varepsilon, N}(w)|^2 dw \leq A \cdot N^2 \tag{31}$$

for all  $\varepsilon, N$ , and  $w_1$ , and a similar condition for  $I_{\varepsilon, N}^*(w_0)$ .

David and Journé: weakly bounded,  $T1, T^*1 \in \text{BMO}$ , homogenous space.

**Proposition 6** Let the functions  $K_{11}(w, w_0)$  and  $K_{22}(w, w_0)$  be defined in (9). Then there exist bounded operators  $T_{11}$  and  $T_{22}$  from  $L^2(\mathbb{R}^2)$  to itself having kernels  $K_{11}$  and  $K_{22}$  in the sense of (30) respectively.

**Proof.** Clearly, we have  $I_{\varepsilon, N}(w) = I_{\varepsilon, N}^*(w)$ . By Proposition 4,  $K_{11}, K_{22}$  are standard kernels. By Theorem 5, only the ‘‘cancelation’’ conditions (31) need be verified.

Without loss of generality, we assume that  $a = 1$ . By Lemma 3,  $K_{11}(w, w_0)$  satisfies the properties (31) and  $T_{11}$  is a bounded operators from  $L^2(\mathbb{R}^2)$  to itself having the kernel  $K_{11}$ . The proof of  $K_{22}$  is similar. ■

**Definition 3** A nonnegative locally integrable function  $\omega$  is called in the class  $(A_2)$  if it satisfies the inequality

$$\frac{1}{|Q|} \int_Q \omega(w)dw \cdot \frac{1}{|Q|} \int_Q \omega(w)^{-1}dw < C < \infty \tag{32}$$

for all cubes  $Q$  in  $\mathbb{R}^2$ , here  $|Q|$  is the Lebesgue measure of the set  $Q \subset \mathbb{R}^2$ .

**Theorem 7** Stein [17], P221, Let  $T$  be a bounded operator from  $L^2(\mathbb{R}^2)$  to itself that is associated to a standard kernel  $K(w, w_0)$  in the sense of (30), and  $\omega \in (A_2)$ . Then for all  $f \in C_0^\infty(\mathbb{R}^2)$ ,

$$\int_{\mathbb{R}^2} |Tf(w)|^2 \omega(w)dw \leq A \int_{\mathbb{R}^2} |f(w)|^2 \omega(w)dw. \tag{33}$$

**Remark 8** The results for translation-invariant operator is given by Coifman an Fefferman, and are extended to non-translation-invariant operator by Stein in his book.

**Proof of Theorem 1**

By variables change (10), one has

$$\|f_{11}\|^2 = \bar{p}^4 \int_{\mathbb{R}^2} |T_{11}h(w)|^2 |s|^{4\alpha} dw \tag{34}$$

with  $w = (x, s)$ , and

$$(T_{11}h)(w) = \int_{\mathbb{R}^2} K_{11}(w, w_0)h(w_0)dw_0,$$

where  $w_0 = (x_0, s_0)$ , and

$$h(w_0) = \bar{p}f(z_0)|s_0|^{-3\alpha}, \quad K_{11}(w, w_0) = \chi_1(s)\chi_1(s_0)\partial_{xx}A_\alpha(\zeta).$$

Here  $\|\cdot\|$  is the norm of  $L^2(\mathbb{R}^2)$ ,  $\bar{p}$  is some positive constant related only to  $p$ .

By Proposition 6, the above operator  $T_{11}$  is a bounded linear operator from  $L^2(\mathbb{R}^2)$  to itself associated to the standard kernel  $K_{11}(w, w_0)$  in the sense of (30). Direct calculation imply that  $\omega(w) = |s|^{4\alpha}$  is in the class  $(A_2)$  if  $-1 < 4\alpha < 1$ , that is  $-2 < p < 2$ . By Theorem 7, the integral of the right side of (34) is controlled by

$$\int_{\mathbb{R}^2} |h(w)|^2 |s|^{4\alpha} dw = \int_{\mathbb{R}^2} |f(z)|^2 dx dy = \|f\|^2,$$

that is

$$\|f_{11}\|^2 \leq C\|f\|^2 \tag{35}$$

for some constant  $C$  depending only on  $p$  and  $a$ . By (14), similar arguments lead to the estimate for  $f_{22}$ .

### 3 Appendix

Denote by

$$(a)_0 = 1, \quad (a)_n = a(a+1) \cdots (a+n-1) = \frac{\Gamma(a+n)}{\Gamma(a)}.$$

Let  $a, b$ , and  $c$  be complex numbers,  $c \neq 0, -1, -2, \dots$ . The power series

$$F(a, b, c; \zeta) = \sum_{n=0}^{\infty} \frac{(a)_n (b)_n}{(c)_n n!} \zeta^n$$

is called *hypergeometric series*. It is a solution of the hypergeometric equation

$$\zeta(1-\zeta) \frac{d^2 u}{d\zeta^2} + \{c - (a+b+1)\zeta\} \frac{du}{d\zeta} - abu = 0.$$

The series is absolutely convergent for all numbers  $|\zeta| < 1$ .

Let  $|\arg(-\zeta)| < \pi$  be the domain of the complex plane  $\mathbb{C}$  minus the positive real axis. Then Barnes's contour integral extends the hypergeometric series  $F(a, b, c; \zeta)$  to a single-valued analytic function of  $\zeta$  in the region  $|\arg(-\zeta)| < \pi$ , which still denoted by  $F(a, b, c; \zeta)$ . In particular, if  $a = b$ , then

$$F(a, a, c; \zeta) = (-\zeta)^{-a} [\log(-\zeta)U(\zeta) + V(\zeta)], \quad (36)$$

where

$$U(\zeta) = \frac{\Gamma(c)}{\Gamma(a)\Gamma(c-a)} \sum_{j=0}^{\infty} \frac{(a)_j (1-c+a)_j}{j! j!} \zeta^{-j}, \quad (37)$$

and

$$V(\zeta) = \frac{\Gamma(c)}{\Gamma(a)\Gamma(c-a)} \sum_{j=0}^{\infty} \frac{(a)_j (1-c+a)_j}{j! j!} h_j \zeta^{-j}, \quad (38)$$

here

$$h_j = h_j(a, c) = 2\Psi(1+j) - \Psi(a+j) - \Psi(c-a-j)$$

and

$$\Psi(z) = \Gamma'(z)/\Gamma(z).$$

### Acknowledgments

This research was supported by the National Natural Science Foundation of China (No.11971237).

### References

- [1] M. S. Baouendi. Sur une classe d'opérateurs elliptiques dégénérés, Thesis, Paris, 1966. *Bull. Soc. Math. France*, 95 (1967): 45–87.
- [2] J. Barros-Neto and F. Cardoso. Hypergeometric functions and the Tricomi operator: pole in the elliptic region. *Adv. Differential Equations*, 10 (2005):445–461.
- [3] J. Barros-Neto and F. Cardoso. Hypergeometric functions and the Tricomi operator. *Sel. Math., New ser.* 11(2005):309–324.
- [4] J. Barros-Neto and I. M. Gelfand. Fundamental solutions for the Tricomi operator. *Duke Math. J.*, 98(1999):465–483.

- [5] J. Barros-Neto and I. M. Gelfand. Fundamental solutions for the Tricomi operator, II. *Duke Math. J.*, 111(2002):561–584.
- [6] J. Barros-Neto and I. M. Gelfand. Fundamental solutions for the Tricomi operator, III. *Duke Math. J.*, 128(2005):119–140.
- [7] L. Bers. *Mathematical Aspects of Subsonic and Transonic Gas Dynamics*. Surveys Appl. Math., **3**. Wiley, New York, 1958.
- [8] A. P. Calderón and A. Zygmund. On the existence of certain singular integrals. *Acta Math.*, 88(1952):85–139.
- [9] S. X. Chen. The fundamental solution of the Keldysh type operator. *Science in China, Ser. A*, 52(2009):1829–1843.
- [10] R. Courant and D. Hilbert. *Methods of Mathematical Physics Vol. II, partial differential equations*. Wiley, New York, 1989.
- [11] S. Delache and J. Leray. Calcul de la solution élémentaire de l'opérateur d'Euler-Poisson-Darboux et de l'opérateur de Tricomi-Clairaut, hyperbolique d'ordre 2. *Bull. Soc. Math. France*, 99(1971):313–336.
- [12] J. B. Diaz and A. Weinstein. On the fundamental solutions of a singular Beltrami operator. In: *Studies in Mathematics and Mechanics presented to Richard von Mises*. Academic Press, New York, 1954:97–102.
- [13] A. Erdélyi et al. *Higher Transcendental Functions, Vols. I, II, III*. McGraw-Hill, New York, 1953.
- [14] L. P. Rothschild and E. M. Stein. Hypoelliptic differential operators and nilpotent group. *Acta Math.*, 137(1976):247–320.
- [15] Z. P. Ruan, I. Witt and H. C. Yin. On the existence and cusp singularity of solutions to semilinear generalized Tricomi equations with discontinuous initial data. *Commun. Contemp. Math.*, 17(2015):1450028, 49 pp.
- [16] Z. P. Ruan, I. Witt and H. C. Yin. On the existence of low regularity solutions to semilinear generalized Tricomi equations in mixed type domains. *J. Diff. Equ.*, 259(2015):7406–7462.
- [17] E. M. Stein. *Harmonic Analysis: Real-Variable Methods, Orthogonality and Oscillatory Integrals*. Princeton Mathematical Series, Vol. 43, Princeton University Press, Princeton, NJ, (1993).
- [18] F. Tricomi. Sulle equazioni lineari alle derivate parziali di secondo ordine, di tipo misto. *Rend. Accad. Naz. Lincei*, 14(1923):134–247.
- [19] A. Weinstein. The singular solutions and the Cauchy problem for generalized Tricomi equations. *Comm. Pure Appl. Math.*, 7(1954):105–116.
- [20] E. T. Whittaker and G. N. Watson. *A Course of Modern Analysis*, 4th ed. Cambridge Univ. Press, New York, 1962.